Unit 9 QC#2 Name: K*m!

UNITS ARE IMPORTANT (g, L, moles, etc AND what substance are you referring tol)

Mg\b,\.\ézj 1. A 50.6 g sample of Mg(OH), is reacted with 45.0 g of HC according to the reaction:
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What is the theoretical yield of MgCl,? i%% ‘:‘; M QL. \TS?) eleﬁdf

What is the limiting reactant?
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} 2. Ifthere is 23.4 L of Hydrogen gas at STP that reacts with 32.4L of Oxygen gas at STP,
‘m\\\')b' \(bﬁ please determine the mass of water vapor that can be produced. W LBAL - U)q
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What is the theoretical yield of H,O in grams?| 27 .4 — & 1B, %_3,
Jngi- (W)
A — e — o€
1 3. If5.00 grams of copper metal react with a solution containing 20.0 grams of AgNO,, e madL

please answer the following questions. (HINT: the copper will become the copper (1I)
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20 What is the theoretical yield of silver that is formed? 12.7a

4. Heating together the solids NH,Cl and Ca(OH), can generate ammonia(NH,), aqueous
CaCl,, and liquid H,O. If a mixture of 33.0 g each of NH,CI and Ca(OH), is heated, how

many grams of each product can be formed?” (hint, you still need to find the LR, since we
know that gets used up completely).

LNHLY g C‘»W%Lm""‘lm\m) v Coally oy « 26,019

Mass of each product; N = O.SC\
0. =
A 30 11.\q, -
-1 0L ! ! J Ble
ol S0 Capd)y 02 W00%  lopay | MEER

S
23 1 = "l’-{.% e \0\,}\')_; a0 T =
(lD.Sﬂ NM5 \ 33 - 23 X 323

'

N L?j* \S. 24y g_«\,’x}[‘«CM U\t



